XYZ,,=85.53, 90.0, 98.0
Ar=25@-a;,) Y
By=25B (b -by ) Y

8y = ago [(Xx)/Y]

by =y [2/Y]
ay=1,byp=-0,4

X = 0,110,8, = 1,000

n = D65,xyy=0.312 , 0.329

B; Parame-

Cap1=IA+B ] 112

Name & Spektralbereich
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
G 520_570 M 570_520
10 Optimalfarben (0), ¥,,,=90, Y\=3,6

XYZ,,=98.86 , 89.99 , 32.02
A1=25@-a)Y

By =258, (by—by ) Y

ay = ago [(X—xo)Y]

by =g [2Y]

ayp=1,byg=-0,4

X = 0,110,B, = 1,000

n = A0, xy,=0.447 , 0.407 G
Cap1=IAL+B A2

Name & Spektralbereich
Ry 570_770 Y, 520_770
Gm 470 _570 G, 380_570
Bm 380 520 M, 570_470
G, 520 570 N, 570_520
10 Optimalfarben (0), Y,,,=90, Y\=3,6

By Parame-

100 ter: N

8 von maximalem (m)Cyg fir D65 THER 490_770 8 von maximalem (m)Cpg fir AGO THER 500_770
in Buntwertdiagram (A, By) min: 380_490 in Buntwertdiagram (A, By) min: 380_500
egw81l-1la ent40-1n egw81l-2a ent40-7n

XYZ,,=85.53, 90.0, 98.0 B, Parame- XYZ,=98.86 , 89.99 , 32.02 B, Parame-
Ay=25@y-ay) Y T100 terY Ay=25@-a) Y T1o0 terY
By=25B;(by—byp) Y By=25B;(by—byp) Y 7l

a = ago [(X=xo)Y] 76 A 66 A = ago [(X-Xo)Y]

by =0 [2/Y] b =g [2Y] T
ago=1,byy=-0,4 52 a1 ay=1,by0=-0,4

X = 0,110,B, = 0,750 D65 Ay |[x.=0,1108, = 2,500 46

n = D65,xyy=0.312 , 0.329 + & t + n = A0O, xy\y=0.447 , 0.407

Cap27IAF+B A2 ~50 100 (|Cap p=[AL+BA M2

Name & Spektralbereich 48 [e) 37 Name & Spektralbereich 45

Ry 570_770 Y, 520_770 Ry 570_770 Y, 520 _770

Gm 470 _570 G, 380_570 295 Gm 470 570 G, 380_570

Bm 380 520 M, 570_470 Bm 380 520 M, 570_470

G, 520 570 N, 570 520 G, 520 570 N, 570 520

10 Optimalfarben (0), Y,,,=90, Y\=3,6 4 10 Optimalfarben (0), Y,,,=90, Y\=3,6 4

8 von maximalem (m)Cyg fir D65 THER 490_770 8 von maximalem (m)Cpg fir AGO THER 500_770
in Buntwertdiagram (A,, B,) min: 380_490 in Buntwertdiagram (A,, B) min: 380_500

egw81-3a ent40-2n

egw81-4a ent40-8n

eqwel-3n




